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I Continued analysis of Xn»91 re: status of child of 3”3 and 1Man nomnr (92N "ar)
a  Possibility raised (and rejected) that »”ar1 reads like 8™ (extra-marital relations=>%5n)
i Rejection: na%n always follows »”ar1 (’p11 ap 1mwn) but we reject k™
b Analysis (?wx 27): dispute is whether nwy »a»nn 5on v
i  Bothsides - fromv.1
1  »ar1 - all mentioned create 551, n9® excludes nm
2 onan - "nYR” blocks off — only > »a»n create Y50
I 175 nrmo for various types of sisters (v. 2)
a NONIR:
i PTM M ™ - RNoN; as per v. 2:
1 n5nan - excludes nmam Nour
2 panmpn —includes norr
3 YR —includes na (though n™ assumes nY1N1a includes N1, X*1o infer from v. 4->07), "Np)
4 wRY AR RY VR — includes py n2m (not via a man)
i v" DY’ - RNVN PR as per v. 2
1 n%nan - excludes nman nonr and yy nom
2 nanpn - includes no1xk that was divorced (even though ™ requires fitness for 3”3, na1p includes
divorcee; more likely to include, since this one had nothing happen to her, unlike yy nan)
3 vHrR—includes na
4 wRY NN RY IR — includes NO1IR
b nmam nonx: all agree that xnon pr
C Py nom:
i W™ - nY RN PR (never RNVN for a sister who isn’t fit for 3"n3)
1 ov s silence indicates that here, he agrees with n”y — 0% xnon — from WK andn R
d nana: all agree that Xnon — from here, v™ infers that n%IN2 means MYV — so the text needs to include nna
II »”aw7’s ruling re: N3 under the age of 3 (=age of nXka): NN3Y NV
a  proof: v. 3 — 03 includes (1n2n) oma who was with them
b  response: D% means “for slaves”
¢ observation: ruling of “nX’a% NRY” arrived at by reconciling implications of v. 3
i device: passed them in front of y'x (v. 6) — but used “barrel test” for girls of T¥91 w2’ (v. 5) — since the ¥
should not be used for punishment of 12 (11%7)
d  ruling:»"aw3 N30 — could have been inferred from story of girl <3 who married a 102 and ’27 permitted it
i Possible challenge: 72y711, once married
ii  Rejection: unlike N1y yy N, status of N1t won't be reaffirmed in their relationship
iii  Parallel ruling (of »"aw7): 1 have no YR NRMY as per vv. 7-8
1 Challenge: vv. 9-10, describing n» as "0TR” (defenses: relative to mnna mentioned there)
2 Challenge: v. 11, identifying nn nkmv as a result of the war on pn
(a) Answer #1: perhaps a Y81 was killed
(b) Answer #2: they are not excluded from yin nkmvy, just YNk NRMO
IV 21 mwn:if a 103 gave PWITP to an Mmn5R then he was appointed to 3”13 — he may marry — as per v. 1 ("R np?)
1  supporting story of Xon3 12 Y17’ who married vin»a na xnan ($$$)
2 rule doesn’t apply to n1> namw - if she fell to him and then he was appointed 312 — even if he did Tnxn
V 31 mwn:ifa"nd’s brother dies, only nx¥'9n - even if PoyPRN 10 MNYR (in spite of Ny NMT NWY) — NN against NIV NR*A
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